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=& i3 ,012,801 4,883,055 129,
= 636,671
Al 266,566
- ,109,564
= =32 IR D] ,978,122 2,694,655 283,
= 636,671
Al 266,566
- ,074,885
ZE2d32 X4 ,582,484 1,642,018 AB9,
2 196, 158
Al 128,848
- 257,478
20 = Hel =4 ¢ 274,138 256,410 17,
101 e1214| 92,838 75,110 17,
04 JI2ZtHI22XNSEES 92,838 75,110 17,
OxZ e I B
83,680 *3H 330 82,844
OxZ &L JIZHMZEXN EE= 9,094
-NE88 = 82,843,200 *1.65% 1,367
-NMIHEE = 82,843,200 x1% 829
-=0za2Eg 2 82,843,200 x4 . 5% 3,728
-20AULdESE = 82,843,200 *3.43% 2,842
“LoIADIQUBE = 2,841,520 %11.52% 328
OJI2ZtHIZ2 2 X+ IO 24| 300,000 x3H 900
201 et 9| 8,200 8,200
02 22| 8,200 8,200
Oxst 2 %% ®MIl23
155,000& x12& 1,860
O=x3t & A4FE Mot ER2
520,000& x12& 6,240
OLZE B 50,000 *2JH A~ 100
206 M = Hl 43,100 43,100
01 X2 H| 43,100 43,100
ogax zel 5,100
AP AU 2E(XH s)
15,000 x2004 3,000
-0FAF, 224 30,000& *35m" x23| 2,100
O=xst & &5 2 FESIHAX E)
10,000 *3,000= 30,000
OZM (B S 50,000& =160 8,000
401 AlEHIZL £ 0HY| 130,000 130,000
01 A&l 130,000 130,000
FRUINHZH ZEHAS o 110,000, 000& 110,000
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OFAdzy ZIAE |2
20,000,000& 20,000
EANsE =48 & AZ=2e 801,908 783,674 18,234
101 @14 Hl 557,016 400,578 156,438
04 JIZHHZ2XNHEE S 557,016 400,578 156,438
O=Xtizel JIMI 2 =
83,6803 18 x330! 497,060
O=Xtizel JIZM2 2 B8 54,556
IR = =g = = 497,059,200& *1.65% 8,202
—MHEE R 497,059,200 * 1% 4,971
-SRI RYS 497,059, 200& *4.5% 22,368
-SALEE= 497,059, 2003 %3.43% 17,050
LI RSREZ 17,049, 130& *11.52% 1,965
OJIZtHMZ22 X 1l =4l 300,000& »18H 5,400
201 £B-2dH| 47,292 49,896 A2,604
01 At 22l 16,240 14,390 1,850
OHLEESENZE 45,000& x10&A 450
OHZ & I8 lli=+ & Zulex 12,650
=4 AXt 550,000& x5 2,750
-ot&J| =X X 660,000 15 9,900
OF82=2&d F=J Ao 70,000& x12& 840
OsXZelds EXYXI(122m) 2,300,000 2,300
02 =24l 31,052 35,506 A4, 454
O=sXl & &8IIe3 378,000& »12& 4,536
OsX 2e| &dt=% 23
1,129,000& »12& 13,548
O=sAthae s423(CCTV)  120,0008 122 1,440
O=X&dl sX2e 250,000 *43| 1,000
O=X&tHl H=l 1,673& x2502| E *7 3| 2,928
O=Xth s 2=, dIAE AEEHH
65,000 x2000 2 *23| 2,600
O=sXl & s+ % dIJIAIE FHl
5,000,000& 5,000
203 YR =&l 1,000 1,000 0
03 A BFAH S =AY 1,000 1,000 0
O=sXxd =& & JASAME HAdH
1,000, 000& 1,000
206 M= Hl 32,400 32,400 0
01 MHZ 4l 32,400 32,400 0
Otz & =Xl s 2l 6,400
-=XHAE R (MR S) 25,000 «16H 400
-XN== Jtd XM 10,000& 200X 2,000
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-=3l0Ith S JIEtME 20,000 200K 4,000
O=s2 2 Yolls 2H 20,000 *5007H 10,000
O%==2 Hg & 20,000 250 5,000
oBAg =28 5 2¢ 3,000& *2,000= 6,000
Oolalal AMYEAE & =222
1,000, 000& 53| 5,000
305 HiAa=2S 5,000 5,000 0
01 & =2S 5,000 5,000 0
Oz=dlglat=2, 22 S 5,000,000& 5,000
401 AlEHIZL £ 0HY| 155,000 170,000 A 15,000
01 Al&H| 155,000 170,000 A 15,000
OJtz24 Z2AX 24 2 AHY|l&H 70,000
-2 A 1,000,000 x20== 20,000
-8 200,000 200 40,000
=AM A 100, 000& = 1004 10,000
OMolAEe=2(HE=) HH| 1,000,000& *40== 40,000
OsXiU =2 & A2 &4 30,000,000 30,000
Ox== &ME S HIIZ2 M2l 15,000,000 15,000
405 Xt &HE S b 4,200 124,800 A 120,600
01 AL 2 E F S| 4,200 124,800 A 120,600
OsdAdd s 600,000 =1 CH 600
OIDXAES 600,000 =1CH 600
O&EA D 500,000 *2CH 1,000
Oul=D] 500,000 =2CH 1,000
osZYHI| 1,000, 000& ~1CH 1,000
HA Y MST £2 . x5 2 30,000 330,000 300,000
401 AlEHIZL 2 0HY| 30,000 330,000 A 300,000
01 Al&EH| 30,000 330,000 A 300,000
OFAN X HE2I 23 AMEs £ =334
30,000,000 30,000
MM =DtRI| 34,716 30,634 4,082
= 17,358
Al 5,208
- 12,150
401 AlEHIZL £ 0HY| 34,716 30,634 4,082
= 17,358
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01 Al&EH| 34,716 30,634 4,082
OZXHXIJF3R I (20ha) 34,716,000 34,716
= 17,358
Al 5,208
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Al 3,300
- 7,700
01 Al&H| 22,000 22,000 0
OO0IMIS X MZ =& (1ha) 22,000,000 22,000
= 11,000
Al 3,300
5 7,700
X 22 29,622 29,500 122
201 2Et2H Y| 4,622 4,500 122
01 AP 22| d| 4,622 4,500 122
OAlsa A S AH| 8,000& *300H 2,400
OAl=22 Al EE88 40 61,700& *10H 62
ORHAXI HINSs 49 61,7002 3504 2,160
206 M = dl 25,000 25,000 0
01 X2 H| 25,000 25,000 0
Ot PHIN =278 +2 S 20 20,000
QXEEIRS £53 204 10,0008 x2,000== 20,000
Of=2 52 N=S 20 5,000& x1,000= 5,000
Aot el 200,000 0 200,000
= 100,000
Al 100,000
401 AlEHIZL 201 Y| 200,000 0 200,000
= 100,000
Al 100,000
01 Al&H| 200,000 0 200,000
OXHetA OB = (10HA) 200,000,000& 200,000
= 100,000
Al 100,000
JIZHH 22X HARMA (2R =KD 34,500 900 33,600
101 Q124 4] 34,500 900 33,600
04 JI2ZtHIZ2 2 NEE S 34,500 900 33,600
OEAN=sX22d EXNEUE 300,000& x1H 300
OEAN=sX22d HEAHS
300,000 x 1 x23] 600
OxZ &L JIZtHZEXN SXEQE
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O=sAtael JNAHMI22i SEANHS
300,000& x18H * 13| 5,400
OSHMZEH JILHI 22X SXEAE
300,000& x6H *13] 1,800
OSHMZEH JIHHI 22X BEH0UHS
300,000& x6H *13] 1,800
OLMEHBEZUWYES JIAMN2Z 2L SAEUE
300,000& x4H «13] 1,200
OLMEHEZUWYES JIAMN2Z2X BEYUHS
300,000& x4H «13] 1,200
OZ3&&el JIANI 2N SAEUE
300,000& x15H «13] 4,500
OZ3&el JIANZ22XH BEBHUHS
300,000& x15H «13] 4,500
OZ33Hs JIANI2XN SANEUE
300,000& x5H +23| 3,000
O33Hs JIAN22XH BEHUHS
300,000& x5F +23| 3,000
OIMSR M2 A= 135,600 135,600 0
= 67,800
Al 20,340
- 47,460
401 Al HI X 201 135,600 135,600 0
= 67,800
Al 20,340
- 47,460
01 A& Hl 135,600 135,600 0
O32U= IR (50ha) 135,600, 000& 135,600
= 67,800
Al 20,340
T 47,460
&K 2t el 20,000 3,300 16,700
401 A& HIZ 201 Y] 20,000 0 20,000
01 A& HI 20,000 0 20,000
OdXRE2E EH Y 20,000,000& 20,000
A2 TH o & Xl 1,395,638 1,052,637 343,001
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Al 137,718
- 817,407
Hesd 2H 123,327 36,009 87,318
= 88,144
Al 10, 141
- 25,042
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Al 8,883
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Al 8,883
- 20,727
401 AIEHI L 20 24,626 36,009 A 11,383
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= 11,801
Al 325
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O 2ZAIS 018 B8 = 20,207
-IYsa 184,096,000 *1.65% 3,038
-MIHEE 2 184,096,000 *1% 1,841
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-Z0AHAUEE 2 184,096,000 *3.43% 6,315
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OUEX B2 49 100,000 *200H 2,000
OLZ0e 28 DM X 200,0008 *10H 2,000
OUSAAEL B4 2 DA 200,0008 +107H 2,000
OUEBEA A 2 A S 7}
10,0002 *3000H 3,000
OMZZY 2X, 52et)l, =) S 70f
10,0002 *100% 1,000
Otg sl SAlY| 8,000 +200% 1,600
OZHY HSHHBABY 224T
60, 00021 42 x602 14,400
OUEHHILEH(TY) S|
8,00021 *42 x2252 7,200
OUETBRT 704 20,0002 *200% 4,000
02 B2l 13,590 2,600 990
OtE S JIA s ZHl A2l
2,0002! 5CH+3Al 24 +602 1,800
OSEI 2A & &2l 50,0002 +10CH 500
OJSHSLAZE 0IEX ARYl
60,0002 * 1504 +72 6,300
OJNSHSLAZE 0IEX +eltl
20,0002 * 15CH 3,000
OETE SHFH RNl
100,000 *10CH 1,000
OMEST CTV(HRENS) SR
82,5002 122 990
203 Y= A 2,000 2,000 0
03 AMETLRETY| 2,000 2,000 0
OBATAME L MZ2AY 224 2,000,0008 2,000
401 N EHIL 2 THYI 25,000 25,000 0
01 Al&t bl 25,000 25,000 0
OYE L T28 S Yatd IHAY
50,0008 *15hax 102 22,500
OAE Z9 Q523 K 250,0008 *2hax52 2,500
AN ERRA 29 7,909 27,436 A 19,527
2 7,909
301 YBFHD 7,909 27,436 ~19,527
2 7,909
B AS=RLALLS 7,909 27,436 ~19,527
OBZES 2A 7,909,000 7,909
2 7,909
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sS4 Ztl 180,626 133,269 47,357
101 @14 Hl 102,096 55,639 46,457
04 JIZHHZ2XNEE S 102,096 55,639 46,457
Odtgd ztel JIZMZ2 2R E=
83,6803 x6H «180! 90,375
Odtgd ztel JIZEMZ2 21 AHEE = 9,921
=g = = 90,374,400 *1.65% 1,492
MHEE R 90,374,400 x1% 904
-SPAIEEE 90,374,400& *4.5% 4,067
-S0ALEE= 90,374,400& *3.43% 3,100
LoD RSEEE 3,099,840% *11.52% 358
Odtg&tel JIZEMZ22 A Il =l
300,000 6 1,800
201 et 8,530 7,630 900
01 At 22l 3,400 3,400 0
OsXzels 4= = 100,000& =128 1,200
OFHl Xt 550,000& *43] 2,200
02 2324l 5,130 4,230 900
O&td W EEXZE0II IS
250,000& »12& 3,000
O34 HXZ3d == 55,000 63 330
Os&z g3 FEUXZE0II SX &l
300,000 =64 A 1,800
401 AIEHI L 2CHEI 70,000 70,000 0
01 Al 70,000 70,000 0
Odg MElmE A A
2,000,000& »25ha* 13| 50,000
OAXILE BoYAlIE &X & &EHl 20,000,000& 20,000
AR ALY AL S 81,000 81,000 0
= 56,700
Al 17,010
T 7,290
401 Al HIZ 201 I 81,000 81,000 0
= 56,700
Al 17,010
T 7,290
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OA/FRIAREH (10 A) 81,000,000& 81,000
= 56,700
Al 17,010
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= 39,714
Al 11,914
- 27,800
307 21201 A 79,428 51,000 28,428
= 39,714
Al 11,914
- 27,800
05 QI &t 3 79,428 51,000 28,428
Oz NYUSNELSY g 29
79,428,000 79,428
= 39,714
Al 11,914
- 27,800
AMZAIL2S 0l4RR EH 1,540 1,980 A 440
= 1,078
Al 322
- 140
401 Al BIZ 2018 1,540 1,980 A 440
= 1,078
Al 322
- 140
01 Al& Hl 1,540 1,980 A 440
OAMEAIE 229 4R HH(7THLA)
1,540,000& 1,540
= 1,078
Al 322
- 140
=MEE ZH 30,000 10,000 20,000
401 Al B2 28I 30,000 10,000 20,000
01 A& HI 30,000 10,000 20,000
O35 =HEE HUl (WA RMHSFEHE
L) 10,000, 000& 10,000
O824 AXZ33 FH 20,000,000& 20,000
MEfDEME & X ALY 40,000 40,000 0
= 20,000
Al 20,000
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Al 20,000
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= 51,895
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HAEN2E(ZA) 1,600 4,000 AN 2,400
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